

The Diophantine Equations $6^x + 4^y = z^2$ and $24^x + 4^y = z^2$

Sasitorn Chuankhunthod¹, Natthinee Lohthaisong², Nattaporn Hermkhuntod³
 and Suton Tadee^{4*}

^{1,2,3,4}Department of Mathematics, Faculty of Science and Technology
 Thepsatri Rajabhat University, Lopburi 15000, Thailand

¹E-mail: sasithon5842@gmail.com; ²E-mail: Lohthaisong82@gmail.com
³E-mail: natthaphon2003za@gmail.com; ⁴E-mail: suton.t@lawasri.tru.ac.th

*Corresponding author

Received 20 April 2025; accepted 10 June 2025

Abstract. This research aims to study and find all solutions of two Diophantine equations $6^x + 4^y = z^2$ and $24^x + 4^y = z^2$ where x, y and z are non-negative integers, by using elementary concepts of number theory and Mihăilescu's theorem. The research results found that the Diophantine equation $6^x + 4^y = z^2$ has the unique non-negative integer solution $(x, y, z) = (2, 3, 10)$. The Diophantine equation $24^x + 4^y = z^2$ has exactly two non-negative integer solutions (x, y, z) , which are $(1, 0, 5)$ and $(2, 5, 40)$.

Keywords: Diophantine equation; Mihăilescu's theorem; non-negative integer solution

AMS Mathematics Subject Classification (2010): 11D61

1. Introduction

In 2011, Suvarnamani, Singta and Chotchaisthit [1] showed that the Diophantine equations $4^x + 7^y = z^2$ and $4^x + 11^y = z^2$ have no non-negative integer solution. In 2012, Chotchaisthit [2] presented all solutions of the Diophantine equation $4^x + p^y = z^2$, where x, y, z are non-negative integers and p is a prime number. In the same year, Peker and Cenberci [3] studied the Diophantine equation $(4^n)^x + p^y = z^2$, where x, y, z are non-negative integers, p is odd prime and n is a positive integer. In 2014, Sroysang [4] proved that the Diophantine equation $4^x + 10^y = z^2$ has no non-negative integer solution. In 2020, Kambheera and Kumpapan [5] showed that $(x, y, z) = (1, 0, 4)$ is a non-negative integer solution of the Diophantine equation $15^x + 4^y = z^2$.

After that, in 2021, Behera and Panda [6] proved that the Diophantine equation $4^x + 12^y = z^2$ has no non-negative integer solution. Orosram, Niratsrok and Sukkharin [7] proved that the Diophantine equation $4^x + n^y = z^2$, where n is a positive integer with $n \equiv 1 \pmod{15}$, has no solution in non-negative integers x, y and z . Meanwhile, Saranya and Yashvandhini [8] proved that $(x, y, z) = (1, 1, 7)$ is a solution of the Diophantine equation $25^x + 24^y = z^2$. Borah and Dutta [9] proved that the Diophantine equation

$5^x + 24^y = z^2$ has exactly one positive integer solution $(x, y, z) = (2, 1, 7)$. Dutta and Borah [10] also studied the non-negative integer solutions of the Diophantine equation $n^x + 24^y = z^2$, where n is a positive integer with $n \equiv 3 \pmod{4}$. Recently, Butsan, Phrommarat and Kanchai [11] proved that the Diophantine equation $21^x + 4^y = z^2$ has a unique non-negative integer solution $(x, y, z) = (1, 1, 5)$.

From the above research study, we are interested in finding all non-negative integer solutions (x, y, z) of two Diophantine equations $6^x + 4^y = z^2$ and $24^x + 4^y = z^2$, by using elementary concepts of number theory and Mihăilescu's theorem.

Theorem 1.1. (Mihăilescu's theorem) [12] The Diophantine equation $a^x - b^y = 1$ has the unique integer solution $(a, b, x, y) = (3, 2, 2, 3)$, where a, b, x and y are integers with $\min\{a, b, x, y\} > 1$.

2. Main results

In this section, we present our results.

Theorem 2.1. The Diophantine equation $6^x + 4^y = z^2$ has a unique non-negative integer solution (x, y, z) , which is $(2, 3, 10)$.

Proof: Let x, y and z are non-negative integers such that

$$6^x + 4^y = z^2. \quad (1)$$

Therefore $(z - 2^y)(z + 2^y) = 2^x \cdot 3^x$ and so there exist two non-negative integers u and v such that

$$z - 2^y = 2^u \cdot 3^v \quad (2)$$

and

$$z + 2^y = 2^{x-u} \cdot 3^{x-v}. \quad (3)$$

From Equations (2) and (3), we have

$$2^{y+1} = 2^{x-u} \cdot 3^{x-v} - 2^u \cdot 3^v. \quad (4)$$

Assume that $x - v > 0$ and $v > 0$. Then $3 \mid (2^{x-u} \cdot 3^{x-v} - 2^u \cdot 3^v)$. From Equation (4), we obtain that $3 \mid 2^{y+1}$, which is impossible. Thus, $x - v = 0$ or $v = 0$.

Case 1. $x - v = 0$. Then $x = v$. From Equation (4), we get

$$2^{y+1} = 2^u (2^{x-2u} - 3^x). \quad (5)$$

Since $\gcd(2^u, 2^{x-2u} - 3^x) = 1$, we have $y + 1 = u$ and

$$2^{x-2u} - 3^x = 1. \quad (6)$$

Case 1.1 $x = 0$. From Equation (6), we get $2^{-2u} = 2$ and so $-2u = 1$, which is impossible.

Case 1.2 $x = 1$. From Equation (6), we obtain that $2^{1-2u} = 2^2$ and so $1 - 2u = 2$, which is impossible.

The Diophantine Equations $6^x + 4^y = z^2$ and $24^x + 4^y = z^2$

Case 1.3 $x > 1$. From Equation (6), it easy to check that $x - 2u > 1$. It contradicts Theorem 1.1.

Case 2. $v = 0$. From Equation (4), we get

$$2^{y+1} = 2^{x-u} \cdot 3^x - 2^u. \quad (7)$$

Case 2.1 $x - u < u$. From Equation (7), we have

$$2^{y+1} = 2^{x-u} (3^x - 2^{2u-x}). \quad (8)$$

Since $\gcd(2^{x-u}, 3^x - 2^{2u-x}) = 1$, it follows that $y + 1 = x - u$ and

$$3^x - 2^{2u-x} = 1. \quad (9)$$

Then $x > 1$ and $2u - x > 1$. By Theorem 1.1, we have $x = 2$ and $2u - x = 3$. Thus $2u = 5$. This is impossible.

Case 2.2 $x - u > u$. From Equation (7), we obtain that $2^{y+1} = 2^u (2^{x-2u} \cdot 3^x - 1)$. Since $\gcd(2^u, 2^{x-2u} \cdot 3^x - 1) = 1$, it follows that $y + 1 = u$ and $2^{x-2u} \cdot 3^x = 2$. Then $x - 2u = 1$ and $x = 0$. It implies that $-2u = 1$. This is impossible.

Case 2.3 $x - u = u$. From Equation (7), we have

$$3^x - 2^{y-u+1} = 1. \quad (10)$$

Then $x > 1$ and $y - u + 1 > 1$. By Theorem 1.1, we get $x = 2$ and $y - u + 1 = 3$. It follows that $u = 1$ and $y = 3$. From Equation (2), we have $z = 10$. Hence $(x, y, z) = (2, 3, 10)$.

Theorem 2.2. The Diophantine equation $24^x + 4^y = z^2$ has exactly two non-negative integer solutions (x, y, z) , which are $(1, 0, 5)$ and $(2, 5, 40)$.

Proof: Let x, y and z are non-negative integers such that

$$24^x + 4^y = z^2. \quad (11)$$

Case 1. $x \leq y$. From Equation (11), we have

$$6^x + 4^{y-x} = \left(\frac{z}{2^x} \right)^2. \quad (12)$$

By Theorem 2.1, we have $\left(x, y - x, \frac{z}{2^x} \right) = (2, 3, 10)$. Then $x = 2, y - x = 3$ and $\frac{z}{2^x} = 10$.

Hence $(x, y, z) = (2, 5, 40)$.

Case 2. $x > y$. From Equation (11), we have

$$4^{x-y} \cdot 6^x + 1 = \left(\frac{z}{2^y} \right)^2. \quad (13)$$

Let $w = \frac{z}{2^y}$. From Equation (13), we have

$$(w-1)(w+1) = 2^{3x-2y} \cdot 3^x. \quad (14)$$

Then there exist two non-negative integers u and v such that

$$w-1 = 2^u \cdot 3^v \quad (15)$$

and

$$w+1 = 2^{3x-2y-u} \cdot 3^{x-v}. \quad (16)$$

From Equations (15) and (16), we get

$$2 = 2^{3x-2y-u} \cdot 3^{x-v} - 2^u \cdot 3^v. \quad (17)$$

Assume that $x-v > 0$ and $v > 0$. It implies that $3 \mid (2^{3x-2y-u} \cdot 3^{x-v} - 2^u \cdot 3^v)$. From Equation (17), we get $3 \mid 2$. This is impossible. Thus $x-v = 0$ or $v = 0$.

Case 2.1 $x-v = 0$. From Equation (17), we have

$$2 = 2^u (2^{3x-2y-2u} - 3^x). \quad (18)$$

Since $\gcd(2^u, 2^{3x-2y-2u} - 3^x) = 1$, we obtain that $u = 1$ and

$$2^{3x-2y-2u} - 3^x = 1. \quad (19)$$

Case 2.1.1 $x = 0$. From Equation (19), we have $2^{-2y-2u} = 2$. Then $2(-y-u) = 1$ and so $2 \mid 1$. This is impossible.

Case 2.1.2 $x = 1$. From Equation (19), we have $2^{3-2y-2u} = 2^2$. Then $3-2y-2u = 2$ or $3 = 2(y+u+1)$. Therefore $2 \mid 3$. This is impossible.

Case 2.1.3 $x > 1$. From Equation (19), it easy to check that $3x-2y-2u > 1$. It contradicts Theorem 1.1.

Case 2.2 $v = 0$. From Equation (17), we have

$$2 = 2^{3x-2y-u} \cdot 3^x - 2^u. \quad (20)$$

Case 2.2.1 $3x-2y-u = u$. From Equation (20), we have

$$2 = 2^u (3^x - 1). \quad (21)$$

Then $u = 0$ or $u = 1$.

If $u = 0$, then form Equation (21), we have $3 = 3^x$ and so $x = 1$. Therefore $3 = 2y$. Thus $2 \mid 3$. This is impossible.

If $u = 1$, then form Equation (21), we have $2 = 3^x$. This is impossible.

Case 2.2.2 $3x-2y-u < u$. From Equation (20), we have

$$2 = 2^{3x-2y-u} (3^x - 2^{2u-3x+2y}). \quad (22)$$

The Diophantine Equations $6^x + 4^y = z^2$ and $24^x + 4^y = z^2$

Since $\gcd(2^{3x-2y-u}, 3^x - 2^{2u-3x+2y}) = 1$, we get

$$3x - 2y - u = 1 \quad (23)$$

and

$$3^x - 2^{2u-3x+2y} = 1. \quad (24)$$

Case 2.2.2.1 $x = 0$. From Equation (24), we get $2^{2u+2y} = 0$. This is impossible.

Case 2.2.2.2 $x = 1$. From Equation (24), we get $2^{2u-3+2y} = 2$ and so $2u - 3 + 2y = 1$. From Equations (23) and (15), we obtain that $y = 0$, $u = 2$ and $z = 5$. Hence $(x, y, z) = (1, 0, 5)$.

Case 2.2.2.3 $x > 1$.

If $2u - 3x + 2y = 0$, then from Equation (24), we get $3^x = 2$. This is impossible.

If $2u - 3x + 2y = 1$, then from Equation (24), we have $3^x = 3$ and so $x = 1$. This is impossible.

If $2u - 3x + 2y > 1$, then from Equation (24) and Theorem 1.1, we get $x = 2$ and $2u - 3x + 2y = 3$. Then $2(u + y) = 9$ and so $2 \nmid 9$. This is impossible.

Case 2.2.3 $3x - 2y - u > u$. From Equation (20), we have

$$2 = 2^u (2^{3x-2y-2u} \cdot 3^x - 1). \quad (25)$$

Since $\gcd(2^u, 2^{3x-2y-2u} \cdot 3^x - 1) = 1$ and Equation (25), we get $u = 1$ and $2 = 2^{3x-2y-2u} \cdot 3^x$.

Then $x = 0$ and $2(-y - u) = 1$. Therefore $2 \nmid 1$. This is impossible.

3. Conclusion

In this article, we show that all solutions of two Diophantine equations $6^x + 4^y = z^2$ and $24^x + 4^y = z^2$, where x, y and z are non-negative integers, are $(x, y, z) = (2, 3, 10)$ and $(x, y, z) \in \{(1, 0, 5), (2, 5, 40)\}$, respectively.

Acknowledgements. The authors would like to thank reviewers for careful reading of this manuscript and the useful comments. This work was supported by the Research and Development Institute and Faculty of Science and Technology, Thepsatri Rajabhat University, Thailand.

Conflict of interest. The authors declare no conflicts of interest.

Authors' Contributions. All authors have contributed equally to the research and preparation of this work.

REFERENCES

1. A. Suvarnamani, A. Singta and S. Chotchaisthit, On two Diophantine equations $4^x + 7^y = z^2$ and $4^x + 11^y = z^2$, *Science and Technology RMUTT Journal*, 1(1) (2011) 25-28.

2. S. Chotchaisthit, On the Diophantine equation $4^x + p^y = z^2$ where p is a prime number, *American Journal of Mathematics and Sciences*, 1(1) (2012) 191-193.
3. B. Peker and S. Cenberci, On the solutions of the Diophantine equation $(4^n)^x + p^y = z^2$, *Far East Journal of Mathematical Sciences (FJMS)*, 71(1) (2012) 21-27.
4. B. Sroysang, More on the Diophantine equation $4^x + 10^y = z^2$, *International Journal of Pure and Applied Mathematics*, 91(1) (2014) 135-138.
5. A. Kambheera and K. Kumpapan, Solutions of the Diophantine equation $15^x + 4^y = z^2$, *Rajabhat Journal of Sciences Humanities and Social Sciences*, 21(1) (2020) 225-261. (in Thai)
6. S.P. Behera and A.C. Panda, Nature of the Diophantine equation $4^x + 12^y = z^2$, *International Journal of Innovative Research in Computer Science & Technology (IJIRCST)*, 9(6) (2021) 11-12.
7. W. Orosram, S. Niratsrok and A. Sukkharin, On the Diophantine equation $4^x + n^y = z^2$, *Annals of Pure and Applied Mathematics*, 26(2) (2022) 115-118.
8. C. Saranya and G. Yashvandhini, Integral solutions of an exponential Diophantine equation $25^x + 24^y = z^2$, *International Journal of Scientific Research in Mathematical and Statistical Sciences*, 9(4) (2022) 50-52.
9. P.B. Borah and M. Dutta, On two classes of exponential Diophantine equations, *Communications in Mathematics and Applications*, 13(1) (2022) 137-145.
10. M. Dutta and P.B. Borah, On the solution of a class of exponential Diophantine equations, *South East Asian Journal of Mathematics and Mathematical Sciences*, 18(3) (2022) 15-20.
11. T. Butsan, N. Phrommarat and N. Kanchai, On the Diophantine equation $21^x + 4^y = z^2$, *Journal of KPRU Science Mathematics and Technology*, 2(2) (2023) 155-160. (in Thai)
12. P. Mihăilescu, Primary cyclotomic units and a proof of Catalan's conjecture, *Journal für die Reine und Angewandte Mathematik*, 572 (2004) 167-195.